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(2) 0.48 — 0.23 = 0.25




@ 671
® 97
i

O

@ 174

~
bS]

ife}

@ 1070




o

rsh

d

b mep 27 6 AN ALgstel o el By

o]
=
 moF 27be ApRafof g7t

L
¥




el

s
N

T

@ 34

mmO
N

T

® A4

Gl




oL do] 7] 2g vehd 7oA dejmolrt. 57} 15°C Y wji
2 Al9F F A] Apo]lR] TEHAL Q.

oL H9o 2=

(C)30

20 “

yd
10
yd

0
ox 9 10 11 12 1 2

NzH 2A Lo (A

D 2% 1242} 235 1 A] Alo]
@ 93 1 X9} 95 2 4] A}o]
® 24 9Aet 27 104] Aol
@ 97 10412t 23 11 A] Aol
@22‘1 11 A8} 2.5 12A] Ato]

Al =3 15°C9) AelH 22 424488 Tof Temet vt
L R 712 WSS Aol Bunt.
ot 29| 2

(T 4,
20 ~
10
7z
0
o 9 10 11 12 1 2
Az oA o5 (A

— 97 11 A9} &5 12 A] AfO]




Aol 2= LrEhd Ayt

AARJAA] ALEA] L,

e
il

191262931

® YR} 3. Ao
® 4297 289 Ao|
©® F297 £ Ao

B

@ st 3ad Aol
@=adz 3o Aol

ez 715

() 30
Z
7
I’
20 -
Z
I,
Z
10
0
A EEEEEEE)

=

7150l 7V Bl
Atolo|a1, 7 27}

Zoldl = 2ot 3o
Lol

Q]
=




7. o FOIA AL A3 B 2 AL ok A9 T

@ 1.007 + 2.06 @ 0.936 + 2.87 ® 3.02+0.98
@ 5.61+1.907 @6.75 +1.98
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